@ -r(x) ® 0

® 2r(x)

O -2r(x)



x ol S oA 3 4 ax® +bx+2 E ¥ - x+ 1 2 YE YAt
x+30°] HEEa, b gt AL, ab 12 75t

aﬂiabzi



3. a+b+c=0,a2+b>+c* =1L W, a®b? +b%c? + ?a® O] 327

1

®Z ) ® 0 @1 ® 4

DN | =



2x+ay—->b
x—y—-1
#S M W, a- b O] G Fotef et

D L
=%

4 Zhx—y=120% " x, y o] gholl Histoi e 4 LA-T



ot
w
=



a(x+ 12 +b(x+ 12 +c(x+1)+dE

~
1o°

©9

abed 2 7k

oL
H

Fe 4% ab.e.d 9

=7
=0

s

® 5 @ 10 ® 18

@0



7. x=V3+V20l1, a= V3+12Q u, ¢ +a2V2:+3 o] Zh-e F5H?

2—4\/5 ®4+«/§

4
2-143 2+ V3
2 ® 2

2v3-3

= 4

@

©)




8. (x-1)(x=3)(x=5)(x=T7) + a7t 0|24 o] SR Fo| HEE o9
e Aot

@ 4 @ 8 @ 12 @ 15 ® 16



1] a2 + 02 +c2 =ab+bc+ca

S

Al el do] g, b, ¢l T

94

/e
~

~H



10. a+b=4,a>+b* =10 W, a° + b° 2] Ft= F5tofeh.

D L
=%



11.

Akl Alzb 190 AR f(x) o tiste] f(1) = £(2) = £(3) =3
ol - ul, £(0) o g7

@® -6 @ -4 ® -3 @1 ® 3



12. BEAF o ot x10 + 1 =ag +ar(x - 1) +az(x— 1)+ +
alo(x—l)m‘ﬂ AHT W, ag+as+as + -+ a0 Q) S ot}

D L
=%



13. 7oA f(x), g(x) ol tste] f(x)+g(x) B x+1 = W Lrof
"ol AL, f(x)-g(x) B x+1 & UH Yo 2]7L 20|th, o3 [H7]]
o A FollM x +1 2 hpo] Bojxs Ag BF 1 =2H?

@ x+ f(x) © x-g(x)
© x+ f(x)g(x)

ORQ) ONG) ® 90
@ 9,0 ® 0,00



14. % o34 f(x), g(x) o] thstod f(x)—i—g(x)T‘Z:— Pax+102 Yem
U279, f(x) —g(x) & x®2 +x+ 1 2 UFH Y27}t -3 o]t}
ol wl, £(x)8 x>+ x+ 18 tHe Um] 2| Fatofat,

>
%



15. o0°] obd Al x,y,zol W5t x,y, 25 Aok shb= 6013, x,y,z

o] 5] gol Lol ul, o(x 4y 4 2) €] ZHE TokR?

| =

D 6 @ 12 ® 14 @ 16 ® 18



16.

b+c¢)3+qla+b+c)(ab+ bc + ca) + rabc 7}

0] F=5 A p, g, rA @SS, prg+r

@1 @ -23 ® 23



17. nol AA49 1, 21(x2 4+ ax + b) S (x + 2)2 02 Lpx L2 7}
#(x+2)7 FES g, 5] S AL W, a+ b LS T

@9 @ 10 ® 11 @ 12 ® 13



18.

x— 182 U G 27 10]2, x+ 182 UFH Ym 2|7} —1 9 ofat
A f(x)7F ATk f(x) B 2% - 12 WHE9le W] 5 o(x) 2 shAL

f0)=0d W, &5 & &2 AS BF 129?

@ Q(0) =0°It
© f(x)= °l1#H4e] € 5= gt

© f(x)7AAAo| f(x) = 2% o]tk

ONQ) @ O ® @, 0
ONCNE) ® 0,0,6



19.

107 T4 P(x) 7 Pk) = =7 (T k= 0.1, 2,
Al o), p(11) 9] 3he?

1 1 1 5
O35 @3 ©3 6

k

, 10)

o
rl:l

I



20. 47 SFA [ 7} 0) = 0, f(1) = 5, f(2) = 3, /)

f(4) = - & ASAR W, £(5) o] 2k o7
5 2 1
@ o @ 1 ® = ® 2 ® 3



